
�� ���

���� �	
� ��
��	� � �� � ������ 	

�� ���� �� ����� � �� �� �  !"  ��#� �$ �  � ��$ � �� �� %"� �$%&� �� ���� �� '� �$%&�
� ��� ��� �(�� "��"� )���� �� '� %� ��� �$ " �#� !  *%� %"�$ )��

t+� �!�$ � �� ��� �� '  ��"�
��� ,� )

j
�� ����  ��"�$ � �%-�� !� �.� /� ��  ��"� �

i, k, l,m, n 0� �� ��� � ���"�! � �!��.� 
�√−1

%��& �' � �� � �%� �"
)�$  �%�

11
.%-� �"%- � �� ��"� +++�� '� � �&��. � � ��%���! � �$%&� %��& �'$%� #�* ��� ����  ' .%-�

� �* �!����. � �$%&�$+++�� '� � �&��. � �� � )��&%# � �$%&�$ #*��! �� �� � ��%���! � �$%&� )/�*% ��'� ��$
 � �#� ��� !& 1 � �% �.$ � �!�.�� ��$%&�� + ���� ��'� � �$%&�! ����� !��� � �� � "%- � �� ��"�
�(����  ' �%�.� �� ���" � �#��� � ��� �% �#!� � �"��� ��$%&�! �&� )/ �*% �� '� � �$%&� !" 2!"�!

��*�� � �� � �%*��� �  � ��$ � �� � �!�.� %� �!$ )�$%&� � �%���$ � �� ��"�!
!" ���!!$ � ���$� ��� . ����� )� �� ���%�- �� %��� )� ��%���! "%- � �� ��"� �%�# � !�(��

�� ��%���! "%- � �� ��"� ��� !& �%� ��� �$%&�� � �� ��.�� ��$%&�
0 ��  � ��"� ��� !& %�� ��! �� �� �!!$ �� �3%3 �� ���%�#!�

y(t) = f(t; y(t − 1), . . . , y(t − N);x(t), x(t − 1), . . . , x(t − M))
245�5 �4 1
 � ��$ ���� ��(�� +++��� � � �� � � 

x(t)
)�$%&� !"  .����� ��  %��#�  �*. ��- � � 

f
%"�$

�� ��%���! "%- � �� ��"�� .% ����  ' �!"��+++�%���!  %.�� '$%�� ��� � ��#� �� 
y(t) +�+++�$%&�!� �� %�* �.� �� )6"%- � �� ��"� 6 � �� ��"�! �%.�� 6� ��%���! 6 �� 3 ��" � �'  � ���

789:;<9 ;9=:>8=? @:<A ;9>99@B CD EC
 �� � �!!$  %�*� � ��%���! "%- � �� ��"�� . ��&�

N
∑

n=0

any(t − n) =
M
∑

m=0

bmx(t − m)(10.1.1)

aN 6= 0
�$ ���� (��� ��� � ��#� � � 

y(t)+�+++�$%&�!  � ��$ ���� ��(�� +++��� � � �� � � 
x(t)

%"�$
 ��� 0a0 = 1

�$ ( ��� )/� ��� �� �(- �(� %��� �& � �$� �� %��# ! �� �� �%(�" ����$ )
bM 6= 0

�$ �
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� ��%���! � �� ��"� ��%�- "%- � �� ��"�
�� .!(! ���� �� ��  ' �� �� �(�" ����$ )

a0 6= 0
�$ � �  ��%(�  (�   "&�! �,"� � ����� ,$!

�
a0 = 1

����.�  !�."  � ��"� !�.!�
a0+� � ���.� !$

����� ���� ��	
t ≥ t0 − M 
	�� x(t)

�	� ������
10.1.1 
���

{y(t0 − 1), y(t0 − 2), . . . , y(t0 − N)}

�{y(t) : t ≥ t0} ���� �	
� �� ��
( 10.1.1)

�
��� ��		���
 %�*� "�(�  � ��"� �� � �"%��

a0 = 1+" (��� � �* ��� !& � �% �" � 0�����
y(t) = −

N
∑

n=1

any(t − n) +

M
∑

m=0

bmx(t − m).
245�4�� 1

�� �� �� �
t ≥ t0

%��&
y(t)

�$%& �� ����3%3 ��  %�*� �"(! �� �� ,$
 ' � �" �(" ����$ 0 ��� �  � ��$ !$!  �� !" ��%�- �� �"(! ,%� ��! ��� ��  ($�  �$ �! � �" �

��- �� ��' !$! ��%�- �$%& �� �"(! ,$ �� �� ,� )��%�- %��&  %�#�  (� �� �� � �!
����� ����	

x1

����� 
	�� ( 10.1.1)
�� 
� 	� y1 �� 10.1.2 �� 


{y1(t0 − 1), y1(t0 − 2), . . . , y1(t0 − N)},
����� ���� 	

x2

����� 
	�� ( 10.1.1)
�� 
�	� y2 !	

{y2(t0 − 1), y2(t0 − 2), . . . , y2(t0 − N)},
����� ����	

αx1 + βx2

����� 
	�� ( 10.1.1)
�� ��
� 	� αy1 + βy2

�"�

{αy1(t0 − 1) + βy2(t0 − 1), αy1(t0 − 2) + βy2(t0 − 2), . . . , αy1(t0 − N) + βy2(t0 − N)}.

10.1.1
3-"� �-! � !(�  ���� � �� ��.�� �$ ��$ �����.��  � ��"� " !�.��

( 10.1.1)+� ��*� 0�����
�� �� �� ���%�- � ' �$� �$ &��� �$!� )��( � ��%�- " �  � ��"�!

 � ��$ � ��! � �. �. ' ��� )%� �!$ 0 � ��$ � �� !"  !(�  ���� �� �!!�$  � ��$ �$ �! � �" �
�
t0

�� '� !(  ��#� �� �"(! �����*%� ��
t0 − M

��'� !( 
��  ��#� � �%��#�  !(� ���� �& �(��  �� 

x
 � ��$ � �� %��& 0�� �� ��� �$%&�  %��#�  ��

�*�$  �%� ,"� � � ��#� �  � ��$ ��� %". !" %��� � ' 60�$%&� ## !" #" �� � ���� ���&% � ' �
y
�*��

� !(�  ����! �(��� !
%(��� .%-� �� �� � �($�  �� � ��! ��%�- ��" �( � �3 �"� ���� )� �$%&� � �#* ���$  ��� ����" ��-!

���#�� � ��%�-� �3%- ��%�- ��" �( ��  � ����"  ��"�%  3 �" �
Z

�%�� � �� %� ��
� $t ���

x(t) = 0 
� 	�� % x ≡ 0 
��� ��		��� �	
�� �	�
( 10.1.1)

�� ��&	� 	� �	
�� 10.1.3 �'()�
����� �
���� ��
���� *� +� ����� ��
,�
� N

��� ��&	� 	� �	
�� �	�
( 10.1.1)

�� ����� ��&	� 	�� �	
���
�yh!� �"� �	
�� ���� ������ ���� ��� �	
���

���� ������� ����� � 	����� ��� +
x
�	� �� ������ � 	� 
	�� ��		��� �	
�� �	�

( 10.1.1)
�� �,
� �	
��
�yp!� �"� �	
��
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� ��%���! � �� ��"� ��%�- "%- � �� ��"�
�*� ( 10.1.1)

���� �	
�� �	��� �� ��
10.1.4 �� 


+
yp

�,
� �	
�� ���� ��
+
yh

����� ��&	� 	�� �	
��� �� ���� ��
�� ��	��� ������ ����� 	� ����� *�

yh + yp
�� �����	�� ��
,�
�� ��
� �� ���� ��

�! �" �� �
10.1.2

 �&3� &��� 0������� -�  � ��$� ��%�-!� )�-�  !(� ����� ��%�-!  . �!( ��� !& � � ��%�- � ����!  ��"  3 �" 
�
yZSR

�-�  !(� ����� ��%�- !" �$� )
( 10.1.1)

!"
yZIR

�-�  � ��$� ��%�- !"
2.1.5

 %�# � %$'�
� ( 10.1.1)

���� �	
�� �	�
y

.
= yZIR + yZSR 10.1.5 �� 


�� �� �� �
10.1.2

 �&3� &��� 0������� 
y1 − y2

�'� 2� ���"  !(� ���� ,� 1   '  � ��$ �&  �� �� � �%� �-
y2 +� y1

�� �$ �! � �" �
���#�� � ��%�- � � � ���#�� � � ���%�- !" �%���! /�%�* )�$ ��$ ���#�� � ��%�-

�
	�� �	�
� ( 10.1.1)
���� ��� *� +

σ
�� "� �""�� 
	,
�	� �
"�� ����� ����

10.1.6 �'()�
N

∑

n=0

anσ−ny(t) =

M
∑

m=0

bmσ−mx(t).(10.1.3)

�� �	�
�	 λ
���� +������

D
������ ������ �	���	�� �	� � ��� �� $��&	� 	�� ���� % �� ������� �	��� 	��


� 	�� λN !� ��� ���

λN

N
∑

n=0

anλ−n =

N
∑

n=0

anλN−n.(10.1.4)

����� �		�
( 10.1.4)

�	,���� *�
λ
�� ���
�� �� ������� �	��� 	�� ��
�

���&	� 	�� ��		��� �� ������� �	���	�� �� ����
10.1.7 ��)�(

y(n) +
3

2
y(n − 1) +

1

2
y(n − 2) = 0.

245�4�� 1
�	� ������� �	��� 	�� +

N = 2!� �		��

λ2 +
3

2
λ +

1

2

245�4�� 1
��� �������� ��		���	

λ2 +
3

2
λ +

1

2
= 0.

245�4�� 1

�λ = −1, λ = −1/2 �� �������� ��		��� ��
�
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��$%&�� � �� "%- � �� ��"�
�� ��3 �"  %�*� � �*�! �� �� ��#�� �  ��%�- ��

�	� ����� ��&	� 	�� �	
��� �"� �� �� � �� ������� �	���	�� �� ���
�� ��
λ1, . . . , λN !� ����

10.1.8 
���

yh(t) =

N
∑

i=1

Aifi(t)(10.1.8)

������ � 	�	��	 +� ��&	� 	�� ��		��� �� �	���� � 	����	� ��
fi(t)

�	����	��	 ��� 	�� �� Ai 
���
�fi(t) = λt

i

�"� ������� �	��� 	�� �� ���� �	� �
� �
	� �	�
λi ���"� ���
��� ���
�� ��� ��	� �" �
	�	 λi = λi+1 = · · · = λi+k 
� 	�� +

k + 1
�	� �
� �
	� �	�

λi
�� ����

�0 ≤ j ≤ k 
	�� fi+j(t) = tjλt
i

y(t) = λt  %�* � � �� � "(� � .-���  ' �!"� �
Z
��%�� !& ��!�" %(�! )% ���$ )( �$ �� 3-"� ��

� ��.�� ��
( 10.1.3)

!" ��#�� � ��%�- � � 

0 =
N

∑

n=0

anDny(t) =
N

∑

n=0

anDnλt =
N

∑

n=0

anλt−n = λt−N

N
∑

n=0

anλN−n.

�����-� � ���!�- !" "%�" � � 
λ
%"�$ . ����

t
!$! �-��� ��%(� ��3 �� 

 ��� � �"��"� ��� %"�$ �# ,�"�� ����� �% �� �� ��%�-! ��� ��� ��  �� � ���%�- �$ � �� �% ���
� � �*�+ � ��$ �$%&� !" %���!

;9=:>8=? @:<A ;9>99@B9 ;9�:�B CD E�
� � ��$ �&-" � '$%� ! �����*%�  ' �!"� � !(� ����� �#�  � ��$� �# ��!�  �� ��%�- �$ ����%
,%�! ���!�

yZSR
��%�-! � ��(��� %��!$ )�-�  !(� ���� �%�(� ��� !& � � ��' � �"&! �(� ,%�

�% �� �� %��& ���"&" �-$ ,$ !& %�#�� � !(�  ���� � �%�#�� �� &��. ��' %�(�! � �*!�� ��� 0��%�( " � �'
��!��" ���* �( � �� � ��� � ���* �( � �� !"

2.2.11
��%�# � %$'�

��	&� �� (Initially At Rest)
������� ��	��� ��� ��� ��� �� �
�	��� ��
��� 
��� 10.2.1 �'()�

�s < tx 
	�� y(s) = 0
�� ���� ��� 
� 	�� +������ ����� �� ��� ���

s < tx 
	�� ������ ��� � � 	�� ��
���

���� ���	
� �� 
����� ������ �� �� � �
� 2
2.2.1

 %�# +++IOM
�$%&� 1  � �*�  � ��$ ��- �� �$%&�$  �� ��� !& �%� ��� �$%&�! � ��(���� ���

�-!� )
SISO

�$%&� � �'
2.2.5

 %�# �-! ����� �� '� � ����� �$%&� �%���  �� )
2.2.3

 %�#  �- !&
� ����� � � �$%&� �2

N = M = 0
�� �����  %.�! 3%- 1 ��%$' �!&� �$%&� � �'

2.2.6
 %�# 

 %�*�
( 10.1.1)

 � ��"� �� � �"%! �� ��" � �"� 2
2.2.8

 %�# 1

y(t) = −
N

∑

n=1

any(t − n) +
M
∑

m=0

bmx(t − m)
245���4 1
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�! !  ��#� "%- � �� ��"�
�$ � ) �� � � %�&�  � ��$ !" � �$%&� .% ��!�

t
&#%�  ��#� !" ,%& )%� �!$ �2

a0 = 1
��(� " ����$ 1

�%�&�  ��#� �$%&�
+"  " �%� !�3 �� ��� !& !"�! ��' �� �����  ���" ��%���! "%- �� ��"� %��# ! �� ��$ �� ��
�
m < 0+� !�(� �" ,$

( 10.1.1)
!" ��� � �*� � �$� !" ���(� !��# ����" ��� !& ��- �!�(! �� )

a0 6= 0�" %- � �� ��"� !"  ��" #�* �� %��� 
12.5.1

/�&� �#  �%
�� �
���� ��
�� �
��� ������� ��	��� ������ ��� 10.2.2 �� 


 !(�  ���� )� ��!(�  (���� �$%&� �%�# � ���� � � �� � � � ���� � � �� �� � �$� �$ �! � �" � 0�����
�� �� �� �

10.1.2
 �&3� �&��� � ��%���! �$! �. �-�� ��.�� ��' %��& �-� � 

�� 022.2.14  %�# 1 � ���-� �$%&� � � 2� !(� ���� !!�$ 1
( 10.1.1)

��� !& �%� ��� �$%&� 
� ��. � "%-  �'� )� � ' �  !(�  ���� %"�$ ) � ��$ � �� �� ��"!  ��#� �"(��  !(� ���� &�.�

�� �%���! �$%&� &���$ �'�+++�-�  !(� ���� %��&
( 10.1.1)

��

��� "� ��	�� ��
�� �
��� ������� ��	��� ������ ��� 10.2.3 �� 

��� � ���� � � �� � � 

σsx
�# �'� ��� � � �� � � 

x
�� �$ �! � �" ��

s
&�.� �

2.2.15
 %�# � %$'� 0������! �" �� �

σsx
 � ��$ %��&

( 10.1.1)
�� %� �-

σsy
�$ � ��%! !. �

y = Φx+�

;9=:>8=? @:<A ;9>99@B ?@ �?A? A�9�; CD E�
�� ��� �� '� �# )� �$%&� !" ��# �� (�� ��� � �" �(! � ��� � � �! !  ��#�

�� 	�� 
�� Kronecker delta function 
��	
� �� ����� �����	� ��� ���� �� "� ��� �����	�
10.3.1 �'()�

��� ��
�&� �δ!�

δ(n) =











1 n = 0

0 ��
��
245�� �4 1

�%�� !$!  !�#%  �*. ��- � � %.��%. !"  �!� ��*.��- )/ �*% �� '�  �!� � ��*. ��-! ��#���
� � %��-! ���!&"  � ��"� � ��  %�*� �! !  ��#� �"(! �� ��

10.1.7
 �#�� %��&

y(n) +
3

2
y(n − 1) +

1

2
y(n − 2) = δ(n).

245�� �� 1
�� ��$ � � )

N = 2
�$" ) !(� ���� ��" � �" �%�

y(−1) = y(−2) = 0.
245�� �� 1
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�! !  ��#� "%- � �� ��"�
 %�" �  %�*� �"(�

y(0) = −3

2
y(−1) − 1

2
y(−2) + δ(0)

245�� �� 1
= 0 + 0 + 1 = 1.

245�� �� 1
y(1) = −3

2
y(0) − 1

2
y(−1)

245�� �� 1
= −3

2
· 1 − 0 = −3

2

245�� �� 1
y(2) = −3

2
y(1) − 1

2
y(0)

245�� �- 1
= −3

2

(

−3

2

)

− 1

2
· 1 =

5

4
.

245�� �� 1
��%�-! � �. �. ' ��� %� �!$ )2�-�  ��"  �!� ��*.��-" ����$ 1 �-���  � ��"� !" ��� � �*

n ≥ 1
%��&

��*�
n ≥ 1

%��& )�$! �
(−1,−1/2)

� ����-� � ���!�- �"%" �$ ���*�� %�$ ���" �( �!�� ���#�� � 
0% �" � ��" �( � ��*��!  ��" �� �!!$ ��#�� �  ��%�-�

y(n) = A1(−1)n + A2

(

−1

2

)n245�� �45 1

y(1) = −A1 −
1

2
A2 = −3

2

245�� �44 1
y(2) = A1 +

1

4
A2 =

5

4
.

245�� �4� 1
% �� �(� ���#�� � ����� ��%�- �%(� )

n > 0
%��& .% � ��.��  � ��"� !$� ��%(� �����" �$ �! � �" �

�
A1 = 1

!�.��
y(1)

%��&  � ��"�� ��*� �
A2 = 1

�$!�
(−1/4)A2 = −1/4

!�.� � ���%(� � �� ��"� ��"
�$ ���*� � �$��!

h(n) =























(−1)n +
(

−1
2

)n
n ≥ 1

1 n = 0

0
��%(�

245�� �4� 1

��� �� �
� ��� �� �� �� � �
0 ��  %�*�  �� �� ��"%�

y(t) = −
N

∑

n=1

any(t − n) +

M
∑

m=0

bmx(t − m).
245�� �4� 1

��� '� � �& ��. � � ��%���!� " �� �" ��� !& �!  ���#� ��" �( �4
�$%&� !"

h0(t)
�!  ���#� ��  !�(� �"(� 2� 1

y(t) = −
N

∑

n=1

any(t − n) + x(t).
245�� �4� 1

�$! �
t > 0

%��& � ��#�� �   � ��"� !" ��%�- � � 
h0
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N
 ' ��%�-! � � ��"�! ��#�� �  ��%�- �� �*�� 2� 1

�$! �� �� ��"�
N +!

��  � ��"� ,��� ) �#��� ��$ )�"(� 2# 1

y(N − 1), y(N − 2), . . . , y(0),
245�� �4� 1

�
n < 0

%��&
y(n) = 0

�  !(�  ����"  ���&� �"(� �
%��& ���" �(" � �$%&! � �%3�%- �� ������ ) � ��"�! ��#�� �  ��%�- �� �*�� �&$ 2� 1

y(N − 1), y(N − 2), . . . , y(0),
245�� �4� 1

�
h0(n)

�� ,$ �� ���*�
!�.�� )�� '� � �& ��.�� � ��%���!� "��"� �&$ 2 1

h(n) =
M
∑

m=0

bmh0(n − m).
245�� �4- 1

� 2� ��! ��'�� 1 %�" � ��" �( ��
 ' �*�� �

N ≥ M 0��"�%  %.� 2� 1
�� �"(� �

i

y(N − 1), y(N − 2), . . . , y(0),
245�� �4� 1

%��& ���" �(" ��$%&! � �%3�%- �� � ����� )�!!$ ��#�� �  ��%�- �� �"(� �
ii

y(N − 1), y(N − 2), . . . , y(0),
245�� ��5 1

�
h(n)
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N < M 0��"  %.� 2� 1

y(M − 1), y(M − 2), . . . , y(M − N),
245�� ��4 1
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���!&

h(n), 0 ≤ n ≤ M − N − 1
!" ��$%&! �!�� � )

n ≥ M − N
%��& � �  '  %.��

�"%�-� ��" �( ��*��� "��" !
�
Z
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α
%��& "%- �� ��"� !" ��*& � �� �� 

αt � �� 
%��& � �"%-  �� ��"� �� ��%� �-

y(t) = H(α)αt  ��#� �
x(t) = αt  � ��$ �$

( 10.1.1)+�  �* 
�� � "!$

H(α)
�$�%� &��.

N
∑

n=0

any(t − n) =
N

∑

n=0

anH(α)αt−n245�� �4 1

= αtH(α)

N
∑

n=0

anα−n245�� �� 1
M
∑

m=0

bmx(t − m) =

M
∑

m=0

bmαt−m245�� �� 1

= αt

M
∑

m=0

bmα−m.
245�� �� 1

�� .%� �� 2
α
!$! 1 � ��.� � ������"

H(α) =

∑M
m=0 bmα−m

∑N
n=0

anα−n
.

245�� �� 1
� �"%� |α| = 1+" �3%-  %.�� ��%���� ��*.��- � � 

H(α)
),"� �  �%�" �-$� / �*% ��'� ��$

� "!$ � ��!" %��&
Ω = kπ/m

�� .%� �� � �%�'(�  � ��$ � � "
x(t) = ejtΩ ��  � ��$ 

α = ejΩ

�%�� ���#� �� 
H(ejΩ)

 �*. ��- �
y(t) = H(ejΩ)ejtΩ �� �'$  � ��$!  � �#� �

k,m
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